714 A x|

QlsiA ZK/ QA

HE
EE

olelA ZHK] . 2 ZEh, AEQIE|A AE A4
EH 22120.
NE MHH

Neveusseneuer-!

RN AE

Nessssuseneed-:

QlelA BRIz Q1A (7I%] M1E) 018 SUol A H

A4 AE[RIZIA AT BIHS ZE LiAlNE 71E.

ME o Be e
=K

. AHIQIEIA AEl1.4401

oy 0
ooy B

J ol Bzl E7ls
pSp=p] HEE ¥ 7.
*@i» = . AE[QIEIA AR 14401 LI £
£3ol|
o U7tAM K| PAG, H-3M, 27
. AH|IQIZIA ARl 1.4401
H#2 4E
. AHQIZIA AEl1.4401
a=
d3 ds
b - I :[
- | |
; SwW I
’ﬁai 7
& fn C ) / " J
M1 W Y
| 7 4 758
=
T
ey e &3 U=
E 22120.1514 - .1520
1 d,
a1 a3 2
R Y
e Az & [
d, d, 1, d; 14 15 Iy F, F, F|A =|cH
-0,02 %A ~ ~
-0,05
[mm] [N] [°C] [g]
UItAM EH - 331
4 M 8x1 4 16 35,0 16 5 3,5 11 -30 80 10 22120.1044
4 M8x1 6 16 35,0 16 5 3,0 1 -30 80 1 22120.1064
5 M10 x 1 5 19 40,0 18 6 3,0 12 -30 80 18 22120.1045
5 M10 x 1 8 19 40,0 18 6 3,0 14 -30 80 18 22120.1065
6 M12x 1,5 6 23 48,0 22 6 4,5 16 -30 80 30 22120.1046
6 M12x 1,5 9 23 48,0 22 6 4,0 20 -30 80 30 22120.1066
8 M16 x 1,5 8 28 58,0 26 8 6,0 23 -30 80 66 22120.1068
8 M16 x 1,5 12 28 58,0 26 8 7,0 26 -30 80 63 22120.1048
10 M16 x 1,5 12 28 58,0 26 8 7,5 32 -30 80 64 22120.1080
12 M20 x 1,5 15 33 715 33 10 9,0 32 -30 80 129 22120.1082
AE|QIE|A AElH _ 122
4 M 8x1 8 16 35,0 16 5 3,5 11 - 100 20 22120.1054
4 M8x1 6 16 35,0 16 5 3,0 1 - 100 20 22120.1074
5 M10 x 1 5 18 40,0 18 6 3,0 12 - 100 32 22120.1055
5 M10 x 1 8 18 40,0 18 6 3,0 14 - 100 32 22120.1075
VEAN HEERIY
HO|X| 1 ~2| 2

NHALDER

FHAl: 13.11.2023


http://halder.com/kr/22120.1044
http://halder.com/kr/22120.1064
http://halder.com/kr/22120.1045
http://halder.com/kr/22120.1065
http://halder.com/kr/22120.1046
http://halder.com/kr/22120.1066
http://halder.com/kr/22120.1068
http://halder.com/kr/22120.1048
http://halder.com/kr/22120.1080
http://halder.com/kr/22120.1082
http://halder.com/kr/22120.1054
http://halder.com/kr/22120.1074
http://halder.com/kr/22120.1055
http://halder.com/kr/22120.1075

ol
[ |

717 % x7 &
A BRK/QlsA =

=
E

|4 ES-S LR I [ 1 ME =
d, d, I, d; I Iy F, F, EIPS £
-0,02 P = =
-0,05
[mm] [N] [°C] [a]
6 M12x 1,5 6 22 48,0 22 6 45 16 - 100 63 22120.1056
6 M12 x 1,5 9 22 48,0 22 6 40 20 - 100 56 22120.1076
8 M16 x 1,5 8 27 58,0 26 8 6,0 20 - 100 107 | 22120.1078
8 M16 x 1,5 12 27 58,0 26 8 7.0 26 - 100 109 | 22120.1058
10 M16 x 1,5 12 27 58,0 26 8 75 32 - 100 111 22120.1090
12 M20 x 1,5 15 32 715 33 10 9,0 32 - 100 203 | 22120.1002
"B BRARIY
HAMIMEI
x| x| AtO|= i MNE HE.
d;
[mm] [mm] [g]
g} L{E 1SO 8675 (DIN 439), AE| Q12| A AEl1.4401
M 8x1 13 28 22120.1514
@ M10 x 1 16 5,4 22120.1515
‘ M12 x 1,5 18 76 22120.1516
' M16 x 1,5 24 18,0 22120.1518
M20 x 1,5 30 33,0 22120.1520
THES
AME H &4 HEE Eo{H 25l 25 HEE MESAAL.
Ho|X| 2 ~2] 2

tNHALDER

FHAl: 13.11.2023


http://halder.com/kr/22120.1056
http://halder.com/kr/22120.1076
http://halder.com/kr/22120.1078
http://halder.com/kr/22120.1058
http://halder.com/kr/22120.1090
http://halder.com/kr/22120.1092
http://halder.com/kr/22120.1514
http://halder.com/kr/22120.1515
http://halder.com/kr/22120.1516
http://halder.com/kr/22120.1518
http://halder.com/kr/22120.1520

